SOLVING EQUATIONS USING THE BALANCING METHOD

	3x = 20 – 2x

5x = 20
      (+ 2x on both sides)

x = __


	4x = 12 – 3x

     = 
      ( _____ on both sides)

x = __



	7x = 50 – 3x

     = 50
      (+ __ on both sides)

x = __


	10x = 63 + 3x

      = 
      ( _____ on both sides)

x = __



	6x = 48 – 2x

     = 48
      (+ __ on both sides)

x = __


	2x = 55 – 3x

     = 
      ( _____ on both sides)

x = __



	5x = 66 + 2x

3x = 66
      (- __ on both sides)

x = __


	10x = 8x + 12

      = 
      ( _____ on both sides)

x = __



	11x = 5x + 54

6x = 54
      (- __ on both sides)

x = __


	7x = 22 + 5x

     = 
      ( _____ on both sides)

x = __



	12x = 2x + 120

      = 
      (- __ on both sides)

x = __


	12x = 15 + 9x

     = 
      ( _____ on both sides)

x = __



	4x = 64 – 4x

      = 
      (+ __ on both sides)

x = __


	14x = 34 – 3x

     = 
      ( _____ on both sides)

x = __



	9x = 26 – 4x

      = 
      (+ __ on both sides)

x = __


	3x = x + 50

     = 
      ( _____ on both sides)

x = __




